CEMOG
3.4.3. Helmheoltz @ecomras{l-(on: u=Ve+curl 2

B Lemma .91 HUiv)=HUEwW D), ...
Assume that g€ H(div) ¢ div 4 =0 and £rn1, =0,
Then there exists a vector funchion 2 () such that

a,=curtz,

where 2 can be chosen such that

) 2e[HU]I3: deiv 2=D A |2 ,H‘?(ﬂ) < '?"l—z(h)l
@) 2€ CHIOMT®! N2 llyagyy € © Kg Uy

Gi) 2€ Ho(curl): dw2=0 A Nllye € Ug 0
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Proo}: via Fowrier tvensformation !

B Lemmaq .10
 Astume Hat 4 € H(div) : div 9= 0.
Then there exnnts a vector fuuction 2 ({) such Fhat
a' = curl 2! |

where 2 can be chosen fn such a way That
(i) 2eTHUMT: div =0 A |21 aen) & 1G Uy n)

OR ca) 2e Hlcul): div2=0 A tr,2=0n “%"H(aul)s '1”‘1;.



